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2019
PHYSICAL EDUCATION (General)

Paper Code : II-A & B

[New Syllabus]
Full Marks : 50 Time : Two Hours

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper II-A (MCQ) and III-B (Descriptive).
Subject Code : [TH[A[&[B

Subject Name :

* Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these altermatives is “CORRECT answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
* No student will be allowed to leave the examination hall before
completion of the examination,

* Using abusive language or employing any other unfair means, he/
she will render himself/herself liable to disqualify.

* Use of any mobile phone, calculator or log table etc. in the
examination hall is prohibited, except spedially instructed in the
question paper.
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Paper Code : II-A
Full Marks : 15 Time : Thirty Minutes
Choose the correct answer,
Each question carries 1 mark.
| Physiology is the best combination of same words ?

(A) Phytosis and Logus
(B) Fusis and Logus

(C) Syndress and Logus

(D) Drosis and Logus
31 Frfeenfa 39l @m @ o T B
(A) FEH1A e cam
(B) 7 © @
(C) Friees € A
(D) B+ e @
2, Thummynmﬂm'mm:}minthﬂhmmbndy?
(A) 300
(B) 325
(C) 327
(D) 400
| TR, FealE (Ee o EiEr
(A) eoofl
B) oxefb
(C) o34l
(D) soofh
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3. Pulmonary artery pumps the blood from —
(A) Left Atium
(B) Left Ventricle
(C) Right Atrium
(D) Right Ventricle
o | AFCEFE wiifEce ae ARy 2 o 2 —
(A) = fremg
(B) a9 e
(C) T Fiem
(D) &R =fers

4. Which of the following is the chest muscle ?
(A) Pectoryallis
(B) Triceps
(C) Biceps
(D) Sartorius
8| A it e offe
(A) coTIamfE
(B) BIEwI#H
(C) TR
(D) #AH1 T

5. Which of the following is the smallest bone of the human body ?
(A) Incas

(B) Melius
(C) Stepis
(D) Metacarpal
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@\ frpa coafb weeHeEs wAE ol wfEy
(A) T
(B) e
(C) A
(D) CbremeE

6. The amount of hemoglobin in the human body should be 100 ml of blood ?
(A) 13.3 gm.

(B) 145 gm.
(C) 17.3 gm.
(D) None of the ahove

| SR (Z voo fUf T Rrmaf of e ze 9= 85ss
(A) o0 99

(B) $8.¢ 4
(C) .0 @

D) Eoizm cweis

7. How much is the width of an adult male heart 7
(A) 12-13 em.
(B) 9-10 ¢m.
(C) 7 em.
(DY 15 em.

| P YR fFE TR TG 4% 95 e
(A) y3-3¢ G
(B) 2-30 14,
(C) 2 =fa
(D) s¢ cHfaL
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8. What type of blood transfissions of the pulmonary ¥ein®
(A) Contaminated blood
(B) Pure blood
(C) Acid blood
(D) None of the above

v T R R wmmn ae offee @7
(A) s e
B) Fog e
(C) =mPe ae
D) B s 7%

9. Lordosis is also called ?
{A) Back curve
(B) Lateral back
(C) Round back
(DY) Hollow back

> | PR T <@l 75 T —
(A) P Terel
(B) =rerene i
(C) FTS @
(D) =&l A

10. What does the amount of biceding from the left ventricle of the heart in |
ittt ?

(A) Cardiac output
(B) Stroke volume
(C) Vital capacity
(D) None of the above
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301 9% WA Tenes am be (W TR WMo Jhwar & w
(A) Te Teoprem
(B) W1z »farnq
(C) g wm=g
(D) @=ibE =g

I1. From which of the following knee joint formed 7
(A) Humens and Fibula
(B) Hemerus and Tibia
(C) Femur and Fibula
(D) Femur and Tibia

33| FpE b wm 2 A e e
(A) R e BfRe
(B) FGmr ¢ M
(C) frma e fafdEa
(D) frmg e BfEEn

12. What makes the scapular part of the shoulder top up ?
(A) Humeral
(B) Clavicle
(C) Accramion
(D) Processor
sa | BeEE (8 ue $1eE O weilt R 3@, o § S
(A) RErszm
(B) wiew
(C) anEFwEA
(D) &7
Turn Over
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13. Which is not the path of air circulation during respiration 7

(A) Pharynx
(B) Diaphragm
(C) Trachea
(D) Bronchiole

Yo | WAEE AW @WG Y GAGET A T
(A) s
(B) wemwer
(C) NFRER
(D) Bt =l

14. In which organ of the body proteet us from the external imjury 7
(A) Muscular system
(B) Circular system
(C) Skeletal system
(D)} Respiratory system

s8 | I o WAEA 1% ¢ ek AR SN (@ I @
(A) Corff o
(B) #%qE" =
(C) ¥%i7 w7
(D) %7 &g
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15. What happens _ ,
deeply ? 10 the person who is forced 1o leave immediately after breathing

(B) Expiration

(C) Inspiration
(D) Vital capacity

S | A AT 2 o xR A e G T o e <
(A) =

(B) Fimim
(C) wHdE
(D) = w=ay

Turn Over
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p-1 (1#1+41) G /19 (N)

2019
PHYSICAL EDUCATION (General)

Paper Code : 11-B

[New Syllabus]
Full Marks : 35 Time : One Hour Thirty Minutes
The figures in the margin indiccte full marks.
Group - A
Answer any hve questions. 10x2=20

1. What is Juif:a ? Write the different types of synovial jeint. Names the bones
are locaied in Face and Lower limbs or extremities. 2+3+2+3=10

g

s “-'hj?t are the organs of Respiratory System 7 Draw a simple diagram of
TeSpiralory system. Write in brief the mechanism of respiration. 243+5=10

3. What is skeleton ? Write different bones of human skeleton system1, Discuss
the cause and remedial exercise of knock-knee and Bow-leg. 2+4+4=10

Group - B
Auswm-any' three questions, 5x%3=15
What is Heart ? Describe the structure of human heart.

Systemic and Pulmonary blood cireulation.

Write the types of Bones with example.

Isometric and Isotonic contraction,

. Describe the structure and ﬁnmﬁnnufvaﬁnust}‘p:sﬂfmusclea,

® N o v oa
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